SEAE HEXRH B EZ A& 2018FEEARA B s = 2017FEEASAGER
- - " A # |5 |8 |& B’giﬁ seosz EH-FR@ES-BY) - | & = =) "JM‘\ | sBHETREE BESE| = 8 2
mauns |HEED| FE WEON 28|88 e TR O e me| B | w | B |Zo|ams). wewes w| T | B
8 | 8 |9 |5 % gl =vonsuss (EHEFAE) - Z0h B B | % &BlEg zon B # %
HAHY | BEHS 60 6 HRiz7E L MANE =384 - N MAs0 (1), M| 1 o] -
2f—vita | 1000 13 GE) AR FROHER | (6005 » 6053) - HERE I3 — 41004, 7 71 1.0
72A-y | 720-vavik | 40] 6 SEREBHEE O | 11H128 =35 « KLY #1502 o] -] -
3V & R O(H - KW AL DS BEAE 2% - ATL - JEES - 7
BREREL | B 60| 13 TEHE < ShEFE R = %G 14 - ff - meA . Koy -m| 38| 25| 15
- ke 40 7 SE>, 100445 « 6053) 10.12 [ 11.11 W - B 20| 13| 15
(ALED (= 40| 7 g GERBIED | v [11.12]11.20 | 1215 | GE) sl mess iz | 17 12| 14
HEEM 40 8 XE), W=CH IO K| 1.2 |0 Fa vl 3 2| 15
DIE | DB 50, 10 e GRS B =B At 8 6| 1.3
FELREHE | 40 6 1 11 1.0
«B | HEAIRE | 50| 10 18] 17| 11
* G 40 6 CHrBl gt
SEE | HE 501 10 s | e | 0 8] 6] 1.3
Haly | @t 60[ (=) T - SRR (E - MAEE004 (O, g 1 1] 1.0
2A—vits | 100) (-) B BT A - M S 2R 158192004, 33004 3] 3] 1.0
72A=y | 720=vavAk | 40[ (—) H <SHEREER =38 >, GRAAR e 3] 3] 1.0
VX %1004 » 6053) SARE LTENM
. RREREL | B 60[ () R = [ R BEA e - KB - W - #2 | 20| 13| 15
HRERKF e BmE | 40 (5) SCE), F=CHEII - %1147 W JERE - EA R L] 14| 8| 18
ng})g’ggﬁgflm (Bﬂf fegemk 40| (=) %1 U] 12.9 [ 12.18 | 1.19 | JLl - BEA o K53 - EI - 1 1] 1.0
F716-8508 111 Ik @t 40| (—) 12.1 BEWLES « IR 1 0 -
FR LIS D | DR 50| (—) 2 2] 1.0
e o U FebpEsE | 40) (0) 2] 2] 10
B | HiAIRE | 50| (-) 6] 5| 1.2
* BRI 40| (—) CRIEI D)
HEE | HE 50| (—) 4] 4] 10
HeHE | 2%H 160| 26 ZAR— VIGO0 | FH - mmEE (ERD (09.29 * HEHERITIEA R 21 21| 1.0
72A-y | 720-vavik | 40[ 2 x EHELAT B H U [10.21]10.30 | 12.4 | GB) fEmmatmem | o —| -
ZR—y | 3/%f @l o GBHEMERRH 10.13 = t2AE AL ER O A F
AR | BREREN | £38 180, o ™" 3.1] 7| CHEls & o4l @11.17 CGEARAR LR [ 1 1] 1.0
DE | 23R 90 4 B U120 12,18 1.19 | L AR & LTHl 1 1] 1.0
12.1 AL
HeRZ | 258 160| (—) EIEICEAA ORESy | - mEE (ERD A0S (O, HCHEE 0 - -
7zh=Y | 72A=vavlk | 40[ (=) X G954 510044, FH1504% 0 -
sVl | 0.9 GE) SMEIRE 5013 i A 2
BCHRE | BRERE | 38 180 ()] | 3] v L1021 1030 | 12,4 |FRIBARE LTl 8 1.0
e | OB | 238 90| (=) - 1013 ' ' o | BeA LR 0| - -
& | MAlRE | 50| 2 " : o] -] -
* BRI 40 2 (LI
SMERE | S E 50 2 o] -] -




